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Price 1 =  Price 0 x [(A x MP) + BX]  

             [MP x (A+B)] 

 =  6.86 x [(474,995,769 x 17.47) + 575,794,710] 

          [17.47 x (474,995,769 + 115,248,942)] 

 = 5.904 
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Ratio 1 =  Ratio 0 x [MP x (A + B)]  

          [(A x MP) +BX] 

 = 1.00 x [17.47 x (474,995,769 + 115,248,942)] 

         [(474,995,769  x 17.47) + 575,794,710] 

 = 1.16199 
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Price 1 =  Price 0 x [(A x MP) + BX]  

             [MP x (A+B)] 

 =  7.81 x [(474,995,769 x 17.47) + 575,794,710] 

          [17.47 x (474,995,769 + 115,248,942)] 

 = 6.721 
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Ratio 1 =  Ratio 0 x [MP x (A + B)]  

          [(A x MP) +BX] 

 = 1.00 x [17.47 x (474,995,769 + 115,248,942)] 

         [(474,995,769  x 17.47) + 575,794,710] 

 = 1.16199 
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